TieB

bosaiagas CUA Test i HEMTastachliva Ty domstrnic tlon A

PR

@m;:?

IR R B &
H N H ]

m—n.

LaeN

= 230 300- 100 = £900000 N - _@j_m

O oooq 2 ooO

0.0002050.2 wn
o

és*fl

i
¥

0000

2L S 109 e
105

P
— —

‘HdL

(_,f
80 5793" < ZQZ% 1\)

IL\»

F-

‘( lO 3%%
ST %’O |

-
——

',9_5\”1‘“" |

3

‘d',

2

g e

510° )

- T d? =l 9——-. L
q A (d-"
(; -uo +9%2

z B ssé‘?’”

I
o




= = . 3.__{!-——— = 7
F=EeA=30107 o5 - 240-510 = 442742340 N = 443 M\

™ A
A g T

A

4ng =

A F AT (0002 L1500 st bedar

E——

- F 4
7 s — 9*,&\/\:1
A w ‘?\-»>

0( < ACF A 0
AL — = brg-;!_ = 6.5 wmnm
/\(/M o G o ——

TELS




